X 17"7'01N 2, "1 .7"02

If he wants; he will not do — 7°2Y KXY Wwa N

OVERVIEW

Xn0 21 explained that the rule of 7702y 1272 %W PR applies when the mbw
has the option whether to do or not to do the MW (in such a case the nown
is not liable for the action of the m%w), however when the 'm°%¥' has no
option (like a =xm) then the n%wn is liable for the 'm>wn nwyn'. Our NOOIN
redefines the concept of 772y *y2 °X.

nooIN asks:
— RN 12N N (v N0y 97 NP Na3) 11)5'\‘1 N 99RN ON)

And if you will say; and that which we learnt in a m1w?», ‘he was pulling
it while going out -

— 29N [H1) 0O9Ya MY INIEIN IN] *ynvaan 29909 [D2oya MY NM)
[and it died while on the owner’s premises] the thief is 9yw» from paying;
if he picked it up [or he took it out of the owner’s premises and it died]

the thief is 29977 to pay.
— 999UY 23) 9IRY AN YDA 7Y Y9)

And >"w9 explained there, in one interpretation, that the case there is
where the thief said to a 2w -
— DN IV PYY XN NNP 3199 1132 %Y YW TN NV
“I have an ox in that house, take it from there and become a 2117 92 on
this ox for me’; the rule is, if -
— 9191UN NIYWNI 23)N 29N DN DTV MY 9IVUN INININ
The 22 removed the ox from the owner’s premises and subsequently
the ox died, the thief, through the 72°w» of the amw, is liable to pay the
owner." This concludes the citation of the mwn according to *"w7°9. Nv0IN concludes the

question:
— *5a9 NY P2 SN NN ININ)

" The 7Iwn there states as follows: WXIW WX 17237 ,709 2°5¥271 MDA DY 1WA M N1 DI I 1Y 1un:
21 N 2°%v27 nwn (The 213 gave it over to an unpaid watchman and the 9mW was pulling it and it died on
the owner’s premises, the (213) n7wn is Mo, if the MW picked it up or he removed it from the owner’s
premises and then it died, the n>wn is 2>n).

% There is no 0*>v2 MwA2 7>°wn 11p; therefore there was no 72°1 *1p. It died 9yan MwAa.

3 gman 1P is effective even in 0°%v2 N, it was acquired for the 213 and he is 217 even for PonR.

* See “Thinking it over’.

> moown ask this question on X20 27 but not on X127 (who maintains that if the 5w is a Xarn 72 then
y"79wR, and here seemingly the m%w is a X2rn 72). The concept of X21n 12 is that he is liable (at least
conceptually) for his actions; meaning the 5w did something wrong, like the 721 nwX when they stole
(knowingly). However, the " is certainly not considered a X21r 93, since (even conceptually) he did
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And why should the 213 be 217 to pay?! For the " did not have to steal

it if he would so desire! x»o 11 ruled that if 5w has the option to refuse to do the
7722y then the n%wn is Mwd. Here too the 9mw had the option of not removing the ox from
the premises of the owner.

n90IN answers:
$1153 295 NI DYAT 8N DD NN 21 NINY Y119 99IVN PRY 1193 99D U

And one can say, since the 9212 does not know that the ox is stolen (he
thinks it belongs to the now» who told him to watch it), therefore this case is

considered as a 9% where one places an item in a 7X17 against its will. Here
too the MW is not considered 7°2y °va X, but rather 5"ya.°

SUMMARY

The criterion of 7°2¥ X7 *va °X which is a precondition for 777°2y 227 oW PR
(which causes that the n%wn is not liable for the actions of the m%w), means
that the %W knew that he was engaging in a prohibited activity and had the
option to decline. However if the m%2 was unaware that this activity is
prohibited, it is considered as if he had no option to decline, and the n>wn is
liable for the actions of the m%w, and 77°2y 1277 oW PR does not apply.

THINKING IT OVER

In the case of the '1?31W,7 when he took the ox he had no intention of making
any 711p for he thought it belongs to the n>wn, how was the 2P n7wn this ox,
since there was no intention of a 7°1p 7wyn by the mw?®

nothing wrong. [The X n3 initially thought that even 7wi) 72y are not X211 72 since they do not have to pay!
The only reason they are X21°11 72 is because they have to pay. Otherwise they would not be ¥21°17 72, even
though they knowingly stole; certainly the 9m1% is not a 21’17 72.] nN1©OIN however assumed regarding °¥2 X
7"y XY, that it merely means that he had the possibility of not doing the action (regardless of whether he
knew it was right or wrong). Therefore m»oin asks that the 72 had the option of not doing it and therefore
the rule should be ¥"75Wx (see 2" and ¥AW MK "'92).

% mooIn answers that 72y X7 *v2 °X does not merely mean he had the power not to do so, but rather within
the scope of ¥"77wX it means that the m°%w knew it was wrong and he should not do it (which would exempt
the mown, for in the s'm>wn mind he is thinking Py " 27 Tn2N7 *727) 277 *127; so the M°Hw must be
doing it on his own). However if the m%w does not know that it is wrong, there is nothing preventing him
from doing it (and the rationale of 21 72077 *3271 297 *727 cannot apply).

7 See footnote # 4.

¥ See 2nw X >"9a,

2

TosfosInEnglish.com



